30 02 05

G )
1,116 1,116 0| 0| 0 0
Ho7 H29 HaL
95.2  H27 97.4
95 97 97
1,904.30ha 1,998.53ha)
13.6  H27)  13.9
14 14 14
183.22ha 1343.22ha




H27 |He8 [H29 [H30 [H31

A07-001 A=7.6 a n n [ 425
A07-002 A=6.9%ha ( n n [ 383
A07-003 A=0.7ha n n [ 84
A07-004 A 1.5ha( ) n n 143
A07-005 A=2.4ha( n n n 81

[T T [ v

1,116|




H27 H28 H29 H30 H31
@) 24 99 86 10 12

() 0 0 0 0 0

(c=a+h) 24 99 86 10 12
(D 0 0 18 43 0

) 24 81 61 53 12

) 0 18 43 0 0

0 0 0 0 0

(h = ct+d-e-f) 0 0 0 0 0
(1 = (g+h)/(c+d)) 0 0 0 0 0
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